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Multimodale uitdagingen voor slimme dorpen
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Keuze voor vervoermiddelen

What is your main means of transport for a single
journey to WORK? You can assume a normal traffic
situation.

= Car (driver) (A1)

= Car (passenger) (A2)

= Train (A11)

= Bus/tram/metro (A13)

m Motorcycle or moped (A10)
= Bicycle (A4)

= Taxi (A12)

= By foot (A14)

= Other (A15)

= No answer

What is your main means of transport for a single
journey to go SHOPPING (groceries)? You can assume
a normal traffic situation.

= Car (driver) (A1)

= Car (passenger) (A2)

= Train (A11)

= Bus/tram/metro (A13)

m Motorcycle or moped (A10)
= Bicycle (A4)

= Taxi (A12)

= By foot (A14)

= Other (A15)

= No answer

What is your main means of transport for a single
journey to SCHOOL/DAYCARE? You can assume a

normal traffic situation.

D

= Car (driver) (A1)

= Car (passenger) (A2)

= Train (A11)

= Bus/tram/metro (A13)

m Motorcycle or moped (A10)
= Bicycle (A4)

= Taxi (A12)

= By foot (A14)

= Other (A15)

= No answer

What is your main means of transport for a single
journey to LEISURE ACTIVITIES? You can assume a

normal traffic situation.

= Car (driver) (A1)

= Car (passenger) (A2)

= Train (A11)

= Bus/tram/metro (A13)

m Motorcycle or moped (A10)
= Bicycle (A4)

= Taxi (A12)

= By foot (A14)

= Other (A15)

= No answer

What is your main means of transport for a single
journey to MEDICAL APPOINTMENTS? You can
assume a normal traffic situation.
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= Car (driver) (A1)

= Car (passenger) (A2)

= Train (A11)

= Bus/tram/metro (A13)

= Motorcycle or moped (A10)
u Bicycle (A4)

= Taxi (A12)

= By foot (A14)

m Other (A15)

= No answer

What is your main means of transport for a single
journey to SOCIAL ACTIVITIES? You can assume a

normal traffic situation.

—

= Car (driver) (A1)

= Car (passenger) (A2)

= Train (A11)

= Bus/tram/metro (A13)

= Motorcycle or moped (A10)
= Bicycle (A4)

= Taxi (A12)

= By foot (A14)

m Other (A15)

= No answer



Keuze voor vervoermiddelen

Personenwagens per 1.000 inwoners
Gemeenten van het Vlaams Gewest, 2018, aantal
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Deelmobiliteit?

Use of shared mobility systems

No answer

Never heard of this —

Once a month or every two months
Once a week or every two weeks

2-4 days a week

5-7 days a week
0.00%  20.00% 40.00% 60.00% 80.00% 100.00%

¥ Ride sharing ™ Bike sharing ™ Car sharing ™ Belbus
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Nochtans: deelmobiliteit







Waarom niet?

Main reasons for not using shared mobility systems

Other

| don't know how this works

| don't like the concept of sharing
The provider is too far away

It's too expensive

No need
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0.00% 10.00% 20.00% 30.00% 40.00% 50.00% 60.00% 70.00%

m Ride Sharing mBike sharing m Car sharing

€ IGEMO



Pilot MOVE

Aanbod:

Gemakkelijker boeken (tot 30’ op voorhand, zondag,
webapplicatie)

Evaluatie: +17% sept ‘18 - sept ‘19

? l Aantal passagiers per Flexbus verplaatsing (September 2019) o T

Aantal passagiers per trip Aantal passagiers per trip
<100 <100

— 10,0-20,0 —+ 10,0-20,0
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